STANDARD TRAVEL,
STANDARD SHOCK MOUNT
DIMENSIONS (IN)

RIDE HEIGHT
DESCRIPTION 6.5" | 7.5" [ 9.0
JOUNCE 37 | 43 | 51
BUMPER CONTACT | 32 | 3.7 | 46 R
REBOUND 42 | 42 | 42 Y
"H” 28 | 32| 39
S 10.7 | 11.7 [13.2 (¥*9.5 ¢—¢ BRAKE CHAMBERS)
(SHOCK BOLT KIT)
*22.50 ¢—¢ SHOCK ABSORBERS
*51.50
MINIMUM CLEARANCE | -~
FOR TIRES AT 35.00 §—¢ TRAILING ARM BEAMS
PIVOT BOLT
*49.00 MIN.
INSIDE—INSIDE TIRES
8.50 MAX A
IN SHOCK - =
ABSORBER CROSSMEMBERS AND/OR GUSSETS
AREA. MUST ADEQUATELY SUPPORT SHOCK

7.00 MAX
IN BUSHING
AREA.

SEE NOTE 2

NOTES:

1. SUGGESTED CROSSMEMBER LOCATIONS ARE SHOWN.
IT IS THE RESPONSIBILITY OF THE

MAY  VARY WITH TRAILER DESIGN.

ACTUAL SIZE AND SHAPE

SUSPENSION INSTALLER TO ENSURE STRUCTURAL ADEQUACY OF TRAILER FRAME
AND CROSSMEMBER.

2. REFER TO THE AXLE/Y—BEAM INSTALLATION SECTION OF L577 (HT INSTALLATION
PROCEDURES) FOR INSTRUCTION ON INSTALLING THE PIVOT BUSHING TUBE
SLEEVES AND ASSEMBLIES INTO THE TRAILER FRAME.
3. * SYMBOL DENOTES TO ADD 6.0 INCHES FOR 102.0 INCH WIDE TRAILERS.
4. LOAD CAPACITY: 25,000 LB AT GROUND.
5. SEE L579, ALIGNMENT PROCEDURES, FOR QUIK—ALIGN® PIVOT CONNECTION
ASSEMBLY.
6. RECOMMENDED BRAKE CAMSHAFT AND BRAKE CHAMBER LOCATIONS MAY VARY
* 26.68 ¢—¢ SLIGHTLY BASED ON AXLE MANUFACTURERS RECOMMENDATIONS.
AIR INLETS
“ 31.00 g—¢ CLEARANCE SPECIFICATIONS:
a) 1.0 INCH MINIMUM REQUIRED BETWEEN TOP OF THE TIRE AND BOTTOM OF
AIR SPRINGS TRAILER STRUCTURE WHEN AXLE IS AT FULL JOUNCE.
(459 b) 2.0 INCHES MINIMUM REQUIRED BETWEEN INSIDE OF TIRE AND TRAILER
STRUCTURE FOR LATERAL MOVEMENT.
\ c) 1.0 INCH MINIMUM CLEARANCE MUST BE MAINTAINED AROUND AIR SPRING WHEN
IT IS AT MAXIMUM DIAMETER.
d) ALLOW 1.5 INCHES AROUND FORWARD SECTION OF BEAM ASSEMBLY FOR
SUSPENSION MOVEMENT.

(8.50) WIDE FRAME

ﬁ\\\\\
IF THE FRAME RAIL IS WIDER THAN 6.50"

ABSORBER BRACKETS. LOADS OF UP
TO 8000 LB CAN BE EXERTED THROUGH
EACH SHOCK ABSORBER.

THIS DIMENSION MUST BE MAINTAINED
TO PREVENT SHOCK ABSORBER
INTERFERENCE WITH CROSSMEMBER

WHEN SUSPENSION IS IN FULL DOWN POSITION.

(TUBE SLEEVE)

(BUSHING TUBE SPACER)

|
|
I\

NRVRVRVRRR

NRVRARVRVRAY

[

T
| /<BUSH|NG ASS’Y) ,Z”
‘ !

7.25%

[ 1L \\ X

N A
AL I I T T T T TTTTTV

(PIVOT BOLT KIT)

SEE NOTE 2 /

SECTION AA

CLEARANCE HOLE THRU
TRAILER FRAME FOR 77

SCALE: .25=1.00
AFTER FINAL AXLE ALIGNMENT,
TIGHTEN UNTIL SHEAR HEAD
SEPARATES AS SHOWN BELOW.

This Print remains the property of
Hendrickson. All information contained
thereon is confidential. It is loaned,

subject to return on demand and on

express condition that it is not to be

copied or used directly or indirectly

for any purpose other than the pur—

pose for which it has been loaned to

you.

DIAMETER OUTSIDE AEERNMSE‘EE 9.75 MI
TUBE.
60" MAX
TORQUE SPECIFICATIONS
DESCRIPTION SIZE TORQUE (FT—LB)

SHOCK BOLTS, UPPER 3/4-10 210-235
SHOCK BOLTS, LOWER 3/4-16 210-235
AIR_SPRING NUTS, UPPER 3/4-16 80—100
AIR SPRING BOLTS, LOWER| 1/2-13 40-50
U—BOLTS 7/8-14 475-525

A

$13.7 MAX AIR SPRING

N ROTATE AIR SPRING RUBBER 45° TO ‘
3.06 POSITION. MOUNT BAG PLATE
ACCORDINGLY. RETORQUE PISTON 7.25
BOLT TO 40-50 FT LB. \

CROSSMEMBER AND/OR GUSSETS

MUST ADEQUATELY SUPPORT

PPER AIR SPRING PLATE. LOADS

OF UP TO 20,000 LB CAN BE

EXERTED THROUGH AIR SPRING BUMPER.

SUPPORT.

(AR SPRING BOLT KIT)

(AIR SPRING PLATE)

v

RECOMMENDATION: LOCATE AIR
SPRING CROSSMEMBER AS SHOWN
AND ADD GUSSET FOR ADDITIONAL

CLEVIS FOR SHOCK STRAP

AIR INLETS

?

f
oy

S RIDE HEIGHT

JOUNCE
BUMPER CONTACT

REBOUND

|

ALTERNATE POSITION FOR
AIR INLET STUD.

ROTATED STUD AIR SPRING

ROTATED AIR SPRING

SCALE: .125 = 1.000

(AIR SPRING)
(U=BOLT KIT) \\(
(1.30)
(BEAM & AXLE SEAT WELDMENT)
F O AES ARE S s ARE | 2292 | OOR| /13718 |OWNEY o | 05— 08—-09 T o

W ENBIB Y 2| 22767 | ko 01m15-14 - —ve- <=1

r ) X - -

HENDRIEKSON L e e e ] 5018 SUSPENSION [
ANGULAR: + 05" —06- g PROPERTY 0F _

IOSOA‘L%UES%ALCSAACEASEESC\C/iNLWYEO:H%QZSe;STfMS SINENSIONS ADRERE 70 ST 1149011657 REV] ECN No | BY | DATE s sams HENDRICKSON INSTALLATION D-30887




This Print remains the property of
Hendrickson. All information contained
thereon is confidential. It is loaned,
subject to return on demand and on
express condition that it is not to be
copied or used directly or indirectly
for any purpose other than the pur—
pose for which it has been loaned to
you.

DETAIL B

SCALE: .25=1.00

4X

|

*13.25 ¢—¢ SHOCK ABSORBERS

*35.00 g—¢ TRAILING ARM BEAMS &

(SHOCK BOLT KIT)

T

(LOWER SHOCK CLEVIS)

*51.50 C%Ly—riﬂ

MINIMUM CLEARANCE — -

FOR TIRES AT T
PIVOT BOLT | |
I I
I
I I

+49.00 MIN. L

INSIDE-INSIDE TIRES R

M( [ &m

NOTES:
1. SUGGESTED CROSSMEMBER LOCATIONS ARE SHOWN. ACTUAL SIZE AND SHAPE K

MAY  VARY WITH TRAILER DESIGN. [T IS THE RESPONSIBILITY OF THE !
SUSPENSION INSTALLER TO ENSURE STRUCTURAL ADEQUACY OF TRAILER FRAME
AND CROSSMEMBER.

o

(SHOCK ABSORBER) y\/\/T
I
I

* 26.68 ¢—¢
AIR INLETS

*

2. REFER TO THE AXLE/Y—BEAM INSTALLATION SECTION OF L577 (HT INSTALLATION !
NO WELD PROCEDURES) FOR INSTRUCTION ON INSTALLING THE PIVOT BUSHING TUBE
s PERMITTED SLEEVES AND ASSEMBLIES INTO THE TRAILER FRAME.
3. * SYMBOL DENOTES TO ADD 6.0 INCHES FOR 102.0 INCH WIDE TRAILERS. =
4. LOAD CAPACITY: 25000 LB AT GROUND. 1 ==
5. SEE L579, ALIGNMENT PROCEDURES, FOR QUIK—ALIGN® PIVOT CONNECTION = =" == 4
~—1.85 ASSEMBLY.
@ AXLE GRAPHICS ARE FOR REFERENCE ONLY. RECOMMENDED BRAKE I - - I
CHAMBER LOCATIONS SHOWN MAY VARY SLIGHTLY BASED ON AXLE
MANUFACTURERS RECOMMENDATIONS. AXLE CLOCKING ANGLE IS
SHOCK MOUNTING BASED ON A 8 INCH DIAMETER BRAKE CHAMBER. THIS ANGLE
(DIMENSIONS ARE WITH MAY VARY BASED ON THE SIZE OF THE BRAKE CHAMBER. IT IS j
AXLE AT RIDE HEIGHT) RECOMMENDED THAT A MINIMUM CLEARANCE OF .38 INCHES BE KEPT |
ALL AROUND THE BRAKE CHAMBER AT ALL SUSPENSION TRAVELS.
7. LIMITED JOUNCE, REMOTE SHOCK SUSPENSION IS APPROVED BY HENDRICKSON '
FOR USE WITH AN AIR DISC BRAKE AXLE, WHEN USED WITH TRAILER FRAME
CONFIGURED AS SHOWN ON THIS PAGE.
CLEARANCE SPECIFICATIONS:
a) 1.0 INCH MINIMUM REQUIRED BETWEEN TOP OF THE TIRE AND BOTTOM OF A
o TRAILER STRUCTURE WHEN AXLE IS AT FULL JOUNCE. = e
b) 2.0 INCHES MINIMUM REQUIRED BETWEEN INSIDE OF TIRE AND TRAILER ‘ 7 L
! STRUCTURE FOR LATERAL MOVEMENT. P
! ¢) 1.0 INCH MINIMUM CLEARANCE MUST BE MAINTAINED il 5275
'j"f" AROUND AIR SPRING WHEN IT IS AT MAXIMUM DIAMETER. » //
SEE NOTE 2 - -- d) ALLOW 1.5 INCHES AROUND FORWARD SECTION . AIR SPRING G
r OF BEAM ASSEMBLY FOR SUSPENSION MOVEMENT. P
e P // (UPPER SHOCK CLEVIS)
k7OOHMA>< < A
IN BUISHING 9(8.05) e e
| AREA IT IS THE TRAILER R
| jL MANUFACTURES 7
L - - RESPONSIBILITY TO T
- - " (TUBE SLEEVE) VERIFY PROPER -
H ‘ CLEARANGE AROUND <"~
F’ THE BRAKE CHAMBER .-~ .~
‘ N (BUSHING ASS'Y) 7
I I /
— ‘f* (BUSHING TUBE SPACER) - 8.00 _— "
L ’?u\\\\ TGl i ] -
| | e | , g
I ! 1 /
/ /
§ N r‘ /
R u %% u @ / + .38 AXLE
LL—\\\\\ \\‘\\\\\\\\ { (P‘VOT BOLT K‘T) 55 / AUGNMENT
I
‘ i SEE NOTE 2
o
CLEARANCE HOLE THRU (U=BOLT KIT)
SECTH@N AA TRAILER FRAME FOR 7" / OPTIONAL .75 THICK
FLANGE STRAP @

SCALE: .25=1.00
AFTER FINAL AXLE ALIGNMENT,
TIGHTEN UNTIL SHEAR HEAD
SEPARATES AS SHOWN BELOW.

DIAMETER OUTSIDE
TUBE.

SEE VIEW C

& FOR OPTIONAL CONSTRUCTION

i |

#12.3 MAX AIR SPRING
3.06

\\F THE FRAME RAIL IS WIDER THAN 6.50”

31.00 g-¢
AIR SPRINGS

LIMITED JOUNCE TRAVEL,
REMOTE SHOCK MOUNT
DIMENSIONS (IN)

RIDE HEIGHT

DESCRIPTION 7.5" | 9.0"
JOUNCE 2.6 4.1
BUMPER CONTACT | 21 3.6
REBOUND 5.6 4.1

"H” 4.9 4.9

"y 131 1131

ROTATE AIR SPRING RUBBER 45° TO
3.06 POSITION. MOUNT BAG PLATE

ACCORDINGLY.

BOLT TO 40-50 FT LB.

(AIR SPRING BOLT KIT)

(AIR SPRING SPACER)

RETORQUE PISTON

TORQUE SPECIFICATIONS

DESCRIPTION SIZE TORQUE (FT-LB)
SHOCK BOLTS, UPPER 3/4-10 210—235
SHOCK BOLTS, LOWER 3/4-16 210-235
AIR SPRING NUTS, UPPER 3/4—16 80—-100
AIR SPRING BOLTS, LOWER 1/2-13 40-50
U—BOLTS 7/8-14 475-525

— 2.00

(BEAM & AXLE SEAT WELDMENT)

CROSSMEMBER AND/OR GUSSETS

MUST ADEQUATELY SUPPORT

UPPER AIR SPRING PLATE. LOADS

OF UP TO 20,000 LB CAN BE

EXERTED THROUGH AIR SPRING BUMPER.

B
H

S RIDE HEIGHT

JOUNCE

BUMPER CONTACT

REBOUND

|

(AIR SPRING)

@ VIEW C

SCALE: 1.0=1.0

GIHENDRIGKSON|

TRAILER COMMERCIAL VEHICLE SYSTEMS

2070 INDUSTRIAL PLACE SE. CANTON, OH 44707-2600 _U.SA

UNLESS OTHERWISE NOTED:

DINENSIONS ARE:

Y
C. RADCLIFF | 712—-2—73

3 | 22932

COR

313/14
E

KIE

071-15-14

KD BY
K. RITTENHOUSE | e conmioenmac

3RD ANGLE PROJECTION 7

@ g 2 | 22767

CoR

11/20/13

THIS DRAMING IS

DIMENSIONS ADHERE TO ANSI Y14.5M—1982|REV.[ECN NO.

BY

DATE

K. ERDMANN HENDRICKSON

PROPERTY OF

HT250YB SUSPENSION
INSTALLATION

SCALE

.25=1.00

SIZE

0

PAGE

20F2

DRAVING No.

D-30887




